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TFHIT T : 100
% : 1% (fie) T : EHUT 70T : 100

&l

(1) B FHYfER 100 FHEE W91 180, Fean-t =l I fAfgwms geard Hoarge a1 Jegfeasd od
T 3ed fhRaT A8 ATet @l FEA sl 3T a8 o FE QY Aescdd g AT avaiRiegT

GUERCGCRZICR .
(2) aaell GHEHETE & S - —L m
7 T Sevas forgren. f S 5

(3) I BRI JTyfEerT shuis oo Iqwfeea fafime nft sawfiehatier gaawmmt 7 fwar Tyg Suar

4) () T FEyfEaehde T YT 4 ARt I gafael swm oI 1, 2, 3 3 4 318 Fuie oo o,
1 GR IANH FAA A I AP ITUTRAIA GIATHN AT ITERT TG HET, A
YHR ITEFSR IFGHHTH TG HAHT d Hafd TFHHHTHEHI BHIRd && gofaen e g
FHTesl AT, FTRTAT Faa HTeAT e AT arara, Ufet a1 sder 99 a7us 7.

(#) s v el anEt S0t st e RAfga ete e, s faeRm=n gl wvA wEh
T WA ANE TS BOvETE AT g, AWEHid sueder R andde T
vt Wt ATyt avgR ugra.

(5) B IR N TV 3NEd. IRAd T4 WAl I areia. usge g gl e Al a4 e
fode I WA dieaed. B OTRE SEfAN AR SR 99 TEIET 99 %eI SIeedd W@ 4% 7
TTATEAT Y UYThS S@TE. T NFR WSS WA el 9e fieas Ufca w8 wvm
FBHAT FIHTHS AT WIS 3.

(6) mwmﬁﬁm@mww TE Foid I TIgA T I forard 3 q9Ee JO
EIS

(7) wegA qhigrea SeafieRts gEaie T IHEARrET IRehdIe 90 Ty U1 et ardie. @
" ‘e e agualdt wEurear At fidem 9m Inuisd et g It Ineabea g

LEL S
p—— l

1 wrubrEaTdt s fafi Fee ¥ wewty @ wvrgitaw st e o ot wfieneaa sHEamTe
TR FTaTITE F0T AW . § % viwdy wa wAghee s/, e wa svgfarafer T s
FHIUTETE FEUT T AT AHEHAN HAUTerEl saedie RaT, die Wieg ol 71 T ot Hef St o
ST AT A dhetedt wdtamasd gromear it gty stvaETaTen siftfam-82” ate

TS U FROTSAT TEETOR FET A I96 F ardl Sqat wUTH U Tuiedn wEmaETean i/ fdar vad
T FR WA dereat e ua fide.

o 7 yeAutrgardt fufge et d auvaremft f yvAgiere srftgraaot s@or g gt TR e a| wvord
R ST FHAHEIE, T vhdear aghEEaTddt swRelt aid s sawditiEg e sfufaman
HRATE FATE WS 7 Sl saaedt Haa u= dide.
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G SARTATA waTat FuTha 19 5 Teaie Im ot :

vai=a HIveard) SR U0 TR Tl W AT W T i JEvR, T,
TEHOH T A ISR 9 IGW ITR Hell IGAL] A Ao garE Jwon wioft waef A
YR TM € wiigE Fae qou A 2 sfuar TReET @F we 3 SRy gEsErEe G he
AR, v v fimarh g FwE feht 2 v 9fR anaeh, @ wive, e srawdard S
e, si~rod Oaelt. FEd) I T 9. 9 vonemiard!, sweswraiandt, Sdigume,
U, SR SRl Hvft TH ek . @ o s B A, @aEw
IRERfH® wearmardt, graEdl & g Reft s, wn e SR @ A9 @ o T 9o =
At FE IA seElt, I ATET Fegest AST ATV W 9IS TG EH =T I ged
), T Arsfdvarar wE Yo el qIES ot wreAre wivear fama 39 Ifm gl . &
ISl FEA W AN AN HIdl Wil . IS GA Feh G df o HHTeroAt
yigHie ® Tour fiem . Teder @ 9| A Sefig W IR, WM SO gF 4
TR TR, AIHITTREY & eg =41 au-ral foreT v2d. AuR, SmfiG |uxfl vaes weurdn
e anfor S0 = gl Fow A T, T A wE wE @ v A S TReer
TV SIS ¥ SAaEEgd g e ST AT Yeelt 45 98 Ul g HadY @Y bl
TUCR, S GYYE, WEfE EWyd, N9, grdEE TRRd), Taaard! WaeT s e,
enfeten 71l S HIEAHE TAN T FS T T AT FeAw @ TR ¥ B,
‘siftger favamaen wMY’ & N @6 w9,

1. WWWWWWW I TEHN T TR
(1) 7 e
(2) @nIior. wwisE
(3) v dAreavaTE
(4) = HeET=

2.  Auew Hfigar wamEd g feeh ?
¥, YR [YwEEidl
F.  UE AYCER!
T W garoTmet
(1) o7 anfur g
(2) HAamre
(3) FAafr=
(4) ¥, 9, F s g

HTEYT FTHTS! S / SPACE FOR ROUGH WORK P.T.O.
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3.  UERE GaNTEN {9 HI0ed] SRONYS Bl S oEw e 3R 7

(1) fm v smeam=

(2) oA W HeAHB

(3) Ty WIS
(4) v ggan I qau feseaH

4, i UFHST ET g HIUAET §q HIVET ?
(1) wawtan foerma F00.
(2) #iwarEn fasm =20
(3) TharE fowm w0,
(4) @yl fervarditer TS fomem s,

(2) ‘amfas AEE
(3) ‘sregwt wwRl’
(4) adh! TN
6. ‘A 1 ‘e’ @ gm qutar ¥ TEUErd.
A, BN
¥ ™
%, EEl
3. ogaA
(1) 3 iy § sy (2) % Imfur T IR
(3) % & TR (4) e T HH

7.  ‘oaell @S qU N weTe! El ®7 41 wgviien ot st
(1) Afd G THAEHRS e,
(2) HRHT TS ITET T4 AT,
(3) At g% AufquarET TE F0.
(4) Akrerr Ao .
FeTT HITATS! ST | SPACE FOR ROUGH WORK
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Frea git 30 0 SR we sheEr,
H. AR HW T 8.
9.  SiaeEd wHgg e T,
F. el oA W 8,
g e TS dieE wufan,

(1) ad T TR
(2) HFT o wOH
(3) @ anfiy € FFEt T
(4) anh

9. Tl I Wegieu famgnefi wee afien.

3. arged

CR )

F. &

g faofas

(1) waa & &R (2) e & WA
(8) #, 9, % M T T (4) " IH

10. “ft Tat geTedl 9eie Todt 9 Ueh AWNN W3] STV FHLd AT TEGUFHR BT 2

3. FHS T
¥, YA 9
., THE 9
. Tiur gmey

(1) 31 anfr 7 e wlsw
(2) W § T

(3) W % T g U
(4) W TH

THoCy} FTHTHIG! SN | SPACE FOR ROUGH WORK P.T.O.
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11.  Identify the correct sentence.
a. She got up when the alarm clock went off.
b,  Erika had dropped her bag while she was getting into her car.
c¢. It was the first time ['d talked to Ella outside the office.
d. She will be taking up her place at University in October.

(1) aandc (2 bandd
(3) a,candd (4) b,candd

12.  Match the following pairs of antonyms :

I I1
. a. Colleague I.  Indolence
b. Promptness II. Honesty
¢.  Duplicity "III. Benevolence
d.  Objection IV. Opponent
a b c d
(1) 1I III v 1
(2) I II v 1
(3) 1 v 111 |
4) IV I 1I 1

13.  Choose the appropriate pair to fill in the blanks in both the given sentences.
a. Measles is highly . '
b. England is the only country to Wales.

(1) contagious, contagious (2) contiguous, contagious
{3) contagious, contiguous (4) contiguous, contiguous

14. Complete the sentence with who, which, whom or what.
_ of them broke the window ?
(1) Who (2) Whom
(3) What (4) Which

15.  Choose the alternative containing the correct sequence of words to fill in the blanks
in the given sentences. ‘

a. __was a big audience for the concert that night.

b. _______ _ isno answer,

c. is a car outside.

{1) There, It, It (2). There, There, There
{3) There, There, It 4) It It, It

e ST ST / SPACE FOR ROUGH WORK
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Read the following passage carefully and answer the questions from 16 to 20 :
If from a hilltop you cquld watch a panther stalking his prey, he would offer a

most interesting spectacle. You would see him taking advantage of every bush, of
every tree trunk and of every stone behind which te take cover. He can flatten
himself to the ground in an amazing fashion. His colouration renders him invisible,
unless you have the keenest eyesight. I once watched one through a pair of
binoculars and was amazed at the really wonderful sense of woodcraft the panther
had. Then comes the final rush. In a couple of bounds and with lightning speed, he
reaches his prey.

16.  Give the meaning of the idiom ‘to take advantage of’.
(1) Profit selfishly by exploiting
(2) Put to good use
{(3) None of these
(4) All of these

17. What is the word for the phenomena ‘his colouration renders him invisible’ ?
(1) Concentration ‘
(2) Commouflagne
(3) Configuration
(4) Camouflage

18,  What is the panther doing in the story 7
(1) Hiding (2) Stalking
(3) Rushing (4) Flattening

19, With the help of which instrument did the writer watch the panther ?
(1) Spectacle (2) Binoculars
(3) Tree trunk (4) None of these

20, How was the panther stalking his prey ?
(1) Hiding behind the tree trunk
(2) Taking advantage of every bush
(3) Flatten himself to the ground
(4) All of these

Foed] TSI SR / SPACE FOR ROUGH WORK . P.T.0.
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21. @eldd Five faegv/aear faegama 1009 Siiferer 8y mead 78 @=ama 39 367 ?
(1) 3fmER anfo dts (2) <&
(3) AT a7 qeyeft (4) femeht anfor aide

Which of the following district/districts does not have 100% geographical area in the
Godavari river basin ?

(1} Aurangabad and Beed (2) Latur
(3) Jalna and Parbhani (4) Hingoli and Nanded
22, T 2011 = JIRIUEER, afor o1 foegnell 15 TaRRdeT St AreRuEm
HEUHE ETd AR,
(1) e snfor R (2) weteeh anfur qifea
(3) ifean emfor férggt (4) itz ooy anfym
According to 2011 Census, and districts have less than 15% of
their population living in urban areas.
(1) Gadchiroli and Sindhudurg (2) Gadchiroli and Gondia
(3) Gondia and Sindhudurg (4) Gondia and Washim

23. @i faue feame =
A, 28 & 2000 THF HHA THTH T FH U0 SATER He.
T 24 Je 1991 TS NG WHRA T i g Jgh .
F. 1984 ALY HHA ST TR TR s R .
FHATHR v/t faum/A srger ame/amgd ?
(1 3 anfr g ‘ (2) « onftr
(3) %F® (4) TR T

Consider the following statements :

a. The Government of India announced a National Agriculture Policy on July 28,
2000.

b. The Government of India announced a New Industrial Policy on July 24, 1991,
¢.  The Government of India announced the New Computer Policy in 1984,
Which of the statement/s given above is/are incorrect ?

(1) aandb (2) bande

(3) Onlyc (4) None of these

ol FIHTATST STRTT / SPACE FOR ROUGH WORK
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24, @AW faue fewme

A, ATwIW 1945 TR JaOEend gk Tl AsaEeh nda e wivdiE e
EIR]

| AT 1950 7 Pt sl wned wEt.
F.  SITRZ 1952 W U Toehrd Hea= 9T 3.

aftereh! o) faum 9e 3@ ?
1) Haawfos (2) =
3) A= (4) 0@ &b

Consider the following statements :

a. The National Planning Committee was set up in October 1945 under the
Chairmanship of Jawaharlal Nehru.

b. Planning Commission was set up in March 1950.

¢.  The National Development Council was set up in August 1952.
Which of the statements given above are correct ?

(1) aandb (2) bandc

(3) aandec (4) Al of the above

25, @rela faum fe=mE =
A, undiy ST Yedw AN AEH AT 40% HA AT T IR,
| QU Sl hEw 32% IHH TS el S HATS HEA el TfE.
F. T WA il S HA FA QLS FOAS 67 A .

FhAH o/ RramA stet sy ¢
(1) 31 amfiry (2) SFqH
(3) 3= (4) uTIH AE

Consider the following statements :
Indian Banks need to lend 40 percent to the priority sector every year.
b. Foreign Banks have to fulfil only 32 percent priority sector lending target. ‘

c.  All Indian Banks do not have to follow the compulsory target of priority sector
lending.

Which of the statement/s given above is/are correct ?
(1) aandb (2) Onlyec
(3) bande (4) None of these
Foed! HRTWTS! AR | SPACE FOR ROUGH WORK P.T.O.
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26. HRdW frgred S Vman aurdio glaen Iren st 2d

9. SR RO §ohd THIRG 9.

T fedtem Rummid FHor/msd e st w2

(1) %Fd A (2) wEd

(3) ¥ of = I (4) FhAEH HoRd @

Liquidity Adjustment facility by RBI allows

a. RBI to manage market liquidity on daily basis.

b. Transmit interest rate signals to the market.

Which of the statements given above is/are correct ?

(1) Onlya (2) Onlyb
(3) Bothaandb (4) None of the above
27, &9 2011 A=) qRATn W fome Feanes .
(1) 134 (2) 120
(3) 140 . (4) 130
India’s Human Development Index Number was in the year 2011.
(1) 134 (2) 120
(3 140 (4) 130

28.  WRATS Yfgean Afeen S wdT Svred aui 3d dehea HUETd ATl ?
(1) 2010-11 (2) 2012-13
(3) 2013-14 (4) 2015-16
India’s First Women’s Bank was established in which year’s budget ?
(1) 2010-11 (2) 2012-13
3) 2013-14 (4) 2015-16

oo FHTARS SIFT / SPACE FOR ROUGH WORK
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29, TUEd Wi fGEsH Foam IS N W T Faga serean vama witcfmn Friwe fhd

Al ?
(1) ewfE

1
2) 2- =¥
@ 2

(3) uhad

R ATCANS o G, SRS S—

If the Panchayat Samiti is immersed, then how long will be the tenure of the newly
elected Panchayat Samiti ?

(1) 6 months
1
(2) 25 years

(3) One year

(4) As much as the remaining tenure of the immersed Panchayat Samiti

30, Srenmgeen: |
A IFTE —~ 156
¥ IFJeg - 154
%.  Ig=IE - 153
3. IJaE - 155

A q
(1) TIII II
2) II I
@) I I1
4) III I
Match the pairs :
a. Article — 156
b.  Article - 154
c.  Article—153
d. Article - 155

a b
(1) III II
2) I I
3 I IT
(4) III I

2g3<4

c
\%
v
III
Iv

IL

<2E

IL
III.

TS FEFH AFR
TSI AT
TSI W= 3rfier
TI9Te 98

Tt frght

R Rl

Executive authority of Governor
Tenure of Governor
Discretionary power of Governor
Office of Governor
Appointment of Governor

d
I
\'
v
II

FHood] TS ST / SPACE FOR ROUGH WORK

P.T.O..
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31. W wi arseh a6 Wi Ul HIeT SRS ST Sieard He gidt 2

(1) Afxen geerget ermmes et fmf g

(2) @EM YAiNEed TIEHAl a0 F0 F =T Ivae Wi

(3) &R geflem wlosuaces swrsawar fumfur wwgrandt

(4) fesammyet demed s Pt wwamd

For what reason were the ‘Run for Laadli Half Marathon Competitions’ organized 7

(1) To cause awareness amongst the people about women protection

(2) To cause awareness about children and their better future

{3} To cause awareness about little girls for their better future

{4) To cause love for physically handicapped people

32, AW AATE0N ScoATIR THATSl HOMG el W HUM Wiefidish! FHi Os% aide et

3R ?
(1) Tan (2) gf@mn
(3) HgAS (4) WY WeW

Which of the following became the first State in India to pass a law to protect
journalists from attack ?

(1) Goa (2) Haryana
(3) Maharashtra (4) Madhya Pradesh

33. T 2018 wid wiarH! Sl diar 9T Felt AR seTE IS0 AR TR shed! 318 ?
(1) 9md - qrieeEar
(2) WA - IS
(3) WRA - STATSH
(4)  9wd — sffetssr

Which border of India will be sealed by 2018 as announced by the Home Minister of
India ?

(1) India — Pakistan

(2)  India - Nepal

(3) India - Bangladesh

(4) India - Sti Lanka _
FoT HITAT! T / SPACE FOR ROUGH WORK

For more downloads & Guidance visit www.omkarshendure.com [ AEE ]



A 13 M11
34. f meamd anfr Sfewn iy At iwe @EdSeAr 2017 ST EEl JOR WRAHY
Terwast fordt wfdmen miurme 9oy Bt ?
(1) 10<mE
(2) 209@
(8) 259@
(4) 309@

According to year 2017 report of ‘The International Institute of Gutmaker’ and
‘Indian Institute of Population Sciences’, how many women died because of abortion
in every year in India ? '

(1) 10 Lakh
(2) 20Lakh
(3) 25 Lakh
(4) 30 Lakh

35. OHa dumee faums S wi ft s seds g ' (RUSA) aids wiée onfor drerde
3fq g5 ¥, Joqr wET (RUSA) 7ol $1 2
(1) T=ehig =7 fhaor stfimm
(2) Ug Ioaae fen AfimE
(3) T Ioa faeo sgem
(4) e 3= e wfmm
Union Minister of Human Resource Development Shri Prakash Javadekar has
launched Portal and mobile app for RUSA. What is the meaning of RUSA ?
(1) Rajkiya Uchch Shikshan Abhiyan
(2) Rashtriya Uchchatar Shiksha Abhiyan
(3) Rashtriya Uchchatar Shikshan Andolan
(4> Regional Uchch Shiksha Abhiyan

36. SH.TA.A. (GST) < SweTsraTavl ST TENGEE HIEGH FWATA Al ?

(1) 10 (2) 108
(3) 120 (4) 106
GST was introduced as which Amendment Act ?
1) 101 (2) 108
(3) 120 (4) 106
FrEeaT HTHIEE ST / SPACE FOR ROUGH WORK P.T.O.
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37. WSS A Faid 113 AR T RV HARE ?

(1) TS I TR

(2) HEA DTESS

(3) HE ST

(4) T SHANEATTS

Which of the following is most harmful for ozene depletion ?
(1) Chlorine and nitrogen

(2) Carbon monoxide

(3) Carbon dioxide

(4) Sulphur dioxide

38. 1 SIS FRON A=A ARG HRATAIG HIO (410 I T IHRA Bieft ?
(1) Fw 929e - afieTg
(2) W el Feaaes — Hies
(3) FHQ S9E AWCITH — T Yeu
(4) T* Tz92 - FAlew

Which movement in a State of India was lead under the leadership of Sundarlal
Bahuguna ?

(1) Chipko Revolution — Tamil Nadu
(2) Silent Valley Revolution — Kerala
(3) Narmada Bachao Andolan — Madhya Pradesh

(4) Appiko Revolution — Karnataka

ToEGT PHTHIE! AT / SPACE FOR ROUGH WORK
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39. 11 feEet 1946 T unefig we1 Shvdi= ereae wev s Fras Fwam el ?
(1) <. WG ¥6R
(2) T IETERE AWSH
(3) . feerg o
(4) YoSOH T T&

Who was selected as the President of Constitution Committee of India on
11" December 1946 ?

(1) Dr. Rajendra Prasad

(2) Dr. Babasaheb Ambedkar
(3) Dr. Sachidanand Sinha
(4) Purushottam Das Tandon

40. I TR HIEHEAGER TS FU ;
A BAG BT Hics, WA
q. HERS WA §EEd, A
%, Treee syfacht = 2Fm S, gmm
3. oA g Afdn g, W
(1) #A,9,%,3
2) & &9 A
(3) T 9, %,
4) & I, %, 9
Arrange the following institutions in their chronological order :
a. Chhatrapati Shivaji College, Satara
b. Maharaja Sayajirao High School, Satara
¢.  Silver Jubilee Rural Training College, Satara
d. Chhatrapati Shahu Boarding House, Satara
(1) a,b,c,d
(2) d,c,b,a
(3) d,b,c,a
(4) d,acb

TR FHIS! SIFN / SPACE FOR ROUGH WORK P.T.O.
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41, When a body is in equilibrium under the action of three forces, then each force is
proportional to the angle between the other two forces.
(1) cos
(2) sIn
(3) tan
(4) cot
42, If u and v are initial and final velocities of a body having an indirect impact on a

fixed plane and « and 0 are angles with line of impact made by initial and final
velocities and if e is coefficient of restitution, then Newton’s law of collision which
holds good for this impact is

(1) vecosB=eucosu
(2) ucosP=evceosa
{3) wvsin B =-eusin «

(4) usinO=eusina

43. Complete determination of resultant force of non-concurrent forces is
determination of magnitude.
b.  determination of direction.
c¢.  determination of point on its line of action.
(1) Onlyaandb
(2) Onlyaandc
(3) a,bandc
(4) None of these

44. D — Alembert’s principle states that if a rigid body is acted upon by system of forces,
this system of forces may be reduced to a single resultant force whose
may be found out by the method of graphic statics.

(1) magnitude
(2) direction
(3) line of action

(4) magnitude, direction and line of action

FHoTYT PEARITS! AW { SPACE FOR ROUGH WORK
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45. The centre of gravity of right circular cone of height ‘h’ lies at a distance
from vertex along the axis of rotation.

h - 3h
2 oy 1
(1) 1 (2) 1
h 2h
1 D
(3) 3 4 3

46. In order to study the dynamic response of a body, it is important to locate the body’s
(1) colour (2) emissivity

(3) centre of mass (4) None of these

47.  The component of the resultant linear impulse along any direction is equal to
(1) zero.
(2) change in the component of momentum in that direction.
(3) change in the component of momentum in opposite direction.
(4) None of these

48,  In technique used to reduce a coplanar or parallel force system to a single resultant
force, the resultant force is equal to

(1) sum of all forces in the system.

(2) sum of all positive forces in the system.
(3) sum of all negative forces in the system.
(4) None of these

49. A projectile is projected from a point on ground with velocity of projection ‘0’ and
angle of projection ‘e’. How much maximum height can the projectile reach ?

u sin o
() h=
) %

2) h= u? sin? q

=
(3) ho XS

2g

(4) h= M

=

THoe] BHRAIS! SR / SPACE FOR ROUGH WORK ' P.T.0.
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50. A concurrent force system is one in which the lines of action of all the forces intersect
at a common point O, then the force system produces

(1) no moment about this point. (2) moment about this point.

(3) Both (1) and (2) are produced. {4) None of these

51. Parallelogram law of forces states that if two forces acting simultaneously at a point
be represented in magnitude and direction by two adjacent sides of parallelogram,
their resultant may be represented in magnitude and direction by

(1) longer side of the other two sides.
(2) shorter side of the other two sides.
(3) diagonal of the parallelogram which passes through their points of intersection.

(4) diagonal of the parallelogram which does not pass through their point of
intersection.

52, In friction, friction force F is termed as when sliding occurs at the
contacting surface.

(1} Kkinetic frictional force (2) kinematic frictional force

(3) static frictional force (4) None of these

53. The negative ratio of the relative velocities of two colliding bodies after and before

collision is called as
(1) Coefficient of Restitution (2) Coefficient of Friction

(3) Elastic Collision {4) Inelastic Collision

54. An automobile of mass 1000 kg moving at a velocity 54 kmph, moves along a sag.
This sag is a part of a circle of 15 m radius. What is the reaction between the

automobile and road while travelling at the lowest part of sag ?
(1) 248kN (2) 248kN

(3) 2480 kN (4) 24800 kN

FHoegT HHTATS! ST / SPACE FOR ROUGH WORK
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The required minimum compressive strength of building bricks as recommended by
IS 1077 — 1957 and 1970 is

(1) 140 kgfem?
(2) 105 kg/cm?
(3) 70 kg/em?
(4) 35 kg/cm?

The minimum compressive strength for rapid hardening portland cement after
72 hours should be

(1) 18 N/mm?2
(2) 28 N/mm?

(3) 24 N/mm?
(4) None of these

5 7.

The maximum settlement for the isolated foundation on clayey soils should be
limited to

(1) 65mm |

(2) 25 mm

(3) 40 mm

(4) 100 mm

68.

As per IS 1893 - 2002, Zone I shown in ‘Seismic Zones of India’ map corresponds to
(1) Maximum intensity I

(2) Maximum intensity III

(3) Maximum intensity V

(4) Maximum intensity VII

59.

Which of the following is a disadvantage of framed structures ?
(1) Flexibility in planning

(2) Speed of construction

(3) Economy

(4) Span length
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60. What is fineness modulus of course sand ?

(1) 29-32

(2) 24-30

() 156-21

(4) 18-24

61. A total station is a combination of
(1) Theodolite and EDM
(2) Electronic theodolite and EDM
(3) Compass and EDM
(4) Electronic compass and EDM

62. Which of the following Electronic Distance Measurements is useful in major
construction where alignment is to be done precisely and quickly ?

(1) Optical theodolite
(2) Digital theodolite
(3) Laser theodolite
(4) Vernier theodolite

63. Reduced Level (R.L.) of the floor at building is 74-400 m, staff reading on the floor is
1-625 m and staff reading when it is held inverted with bottom touching the ceiling
of a hall is 2:870 m, then the height of the ceiling above the floor is

(1) 3593 m (2) 3953 m
(3) 4-594m (4) 4-495m

64. A lamp at the top of a lighthouse is visible just above the horizon from a station at
sea level. The distance of the lamp from the station is 30 km. The height of the
lighthouse is

(1) 60-57m
(2) 300m
(3) 206lm
(4) 540m
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65. A device/devices which transfers heat frbm low temperature region to high
temperature is
(1)  Only refrigerator
(2) Only heat pump
(3) Both refrigerator and heat pump
(4) None of these
66. possesses lowest thermal conductivity among the following materials :
(1) Sawdust (2) Ash
(3) Glass wool (4) Freon
617. is not the assumption of Fourier’s equation of heat conduction.
(1) Constant temperature difference
(2) Uniform area of cross-section
(3) Steady heat flow
(4) Homogeneous substance
68. If the designation of a deep-groove ball bearing is 6014, then bore diameter is
mm.
(1) 60 2) 70
(3) 84 (4) 74
69. If‘m’is the mass per unit length of belt, ‘T’ is maximum allowable belt tension and
‘T_’ is centrifugal tension, for maximum power transmission, the velocity of the belt
is
. T
’ 3m
T
b. <
m
fﬁ
m
d m
' T
[+
Which of the given above is/are correct ?
(1) Onlyc (2) Onlyd (3) aandb (4) candd
Fooql FHTHIS RN / SPACE FOR ROUGH WORK P.T.O.
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70. Which gears are used to transmit heavy loads, high speeds at low noise level
between parallel shaft ?

(1) Spur gears
(2) Helical gears
(3) Bevel gears
(4) Worm gears

71.  Which is inversion of four-bar mechanism ?
(1) Coupling rod of locomotive
(2) Whitworth quick return motion mechanism
(3) Elliptical trammel
(4) Oldham’s coupling

72.  Which of the following material requires the largest shrinkage allowance, while
making a pattern for casting ?

(1) Malleable Iron

(2) Plain Carbon Steel
(3) Lead

(4) Brass

73. is widely used in tool steels because the tool will maintain its hardness
even at red heat.

(1} Chromium
(2) Nickel

(3) Tungsten
(4) Vanadium

74. Maximum fluctuation of energy of flywheel is defined as
(1) sum of maximum and minimum energy.
(2) ratio of maximum and minimum energy.
(3) ratio of minimum and maximum energy.

(4) difference between maximum and minimum energy.
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75. The RMS value of the current i(t) in the circuit shown below is
1F 1H
|| 2103
1Q
J VWA
i(t)s
o -~
NAAAY ~
NI
1-0 sin t (volt)
L La @ —=A 3 1A 4 V2 A
2 J2
76. Three resistances of 3 (2 each are connected in delta. The value of the resistance in
the equivalent star is
(1 270 (2 9@ 3) 150 4) 1Q
77. The maximum power transferred to a load for a resistive Thevenin’s circuit and
condition for which it occurs are
4vZ \'E:
(L P .= and Ry =Ry (2) P .= and Ry = Ry
:b.9 RT ma 4RT
2VZ V2 Ry
(3) Pma_x = ﬁ and RL = RT (4) PmB.X = ZRT and RL = 7
78.  An electric heater is rated as 1 kW, 250 V. Calculate the current taken by it if it is
connected to 200 V supply
(1) 45A (2) 32A
(3) 5A 4) 3A
79. For a series R - C circuit Vg is (the voltage across the Resistance, R and) measured
to be 8 V and V, is (the voltage across the capacitance, C and) measured as 6 V. The
ac source voltage will be
(1) 14V (2) 8V (3) 10V (4) 12V

FEel] BETHIS ST / SPACE FOR ROUGH WORK P.T.O.
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80. The open circuit test in a transformer is performed with
(1) rated transformer voltage
(2) rated transformer current
(3) direct current

(4) high frequency supply

81. RMS value of a current given by
i=10+ 5 cos (628 t + 30°) is

(1) 353A (2) 5A
(3) 106 A ' (4) 156 A

82. A balanced star connected load has a line voltage V|, line current I; and impedance
per phase Z. When it is connected in equivalent delta connected system for same line
values of voltage and current as in case of star connected system, the per phase
impedance will be

(1) ZO
2) J3ZQ
(3) 3Z0

(4) Not determined from given data

83. In the equivalent circuit of a practical transformer, its magnetizing impedance is
determined by

(1) Short circuit test
(2) Open circuit test
(3) Both short circuit and open circuit tests

(4) Other than above tests

84. A 3-phase load is balanced if all the three phases have the same
(1) impedance
(2} power factor
(38) impedance and power factor

(4) None of these
roe] HIHTATE! ST / SPACE FOR ROUGH WORK
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85. The length of the curve y = %:{3’2 between x=0 and x=1 is

(1) 027 . | (2) 067
3 1 4y 122

86. In Taylor's series expansion of exp (x) + sin (x) about the point x = =, the coefficient
of (x— n)? is
(1) exp(m) (2) 0-5exp ()
(3) expim}+1 (4) exp(m-1

B7. The function fix) = 2x3 — 3x2 — 36x + 2 has its maxima at
(1) Onlyx=-2 (2) Onlyx=0
(3) Onlyx=3 (4) Bothx=-2andx=3

88, The coefficient of the x° term in the Maclaurin polynomial for sin (2x) is
(1 0 (2) 00083333
(3) 0-016667 (4) 0-26667

89. In the matrix equation Px = q, which of the following is a necessary condition for the
existence of at least one solution for the unknown vector x ?

(1) Augmented matrix [Pgq] must have the same rank as matrix P
(2) Vector g must have only non-zero elements

(3) Matrix P must be singular

(4) Matrix P must be square

90. If (D? + 1)y = sin x sin 2x, then the particular integral is

(1)

. 1
XxS8sinx+ — cos 3x
16

(2)

) 1
xsinx — — cos 3x
16
(3)

x sin 2x + i cos 3x
16

(4)

N S N N

X sin 2x — i cos 3x
16
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91, If x=uv and v= , then o, v) is equal to
u-v ox, y)
(u +v)2 (u + v)2
1 2
D 2uv 2) 4uv
(u - v)2 (u - v)?
3 4 ‘
®) 4uv : ) 2uv
92. If ¢ (x,y,2z)=90, then the value of [@] [ix_] (QJ is equal to
oy ) e )y \ax),
@® o @ 1 3 - % ) -1

93.  Given a function fix, y) = 4x2 + 6y — 8x — 4y + 8. The optimum value of f(x, y)
(1)  is a minimum equal to 10/3.
(2) is a maximum equal to 10/3.
(3) is a minimum equal to 8/3.

(4) is a maximum equal to 8/3.

Ix

2
94. For jx_g -6 % +9y = 1—2, the particular integral is
(1) &3 (1 +logx) (2) —e 3 (1+logx)
3) &3 (1+logx) 4) -e%1 +logx)
1;/2 g
95. I log 1 + azsm x) dx is also shown as
smex
0
1V ={fa-1+1) @ =lfa+r1-1)
® Z{e+1-1) @ nl{fa-1-1)
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96. The partial differential equation 5 9z +6 0%z = xy is classified as
ax?. ayz
(1) elliptic (2) parabolic
(3) hyperbolic (4) None of these

97. The area of the curve a?x? =y3 (2a ~y) is found out to be

(1) na (2) nad (3) nla (4) na?

98. Consider the equation :

8

2

v+ ["——' ;j‘_(")] () +xy = 10, is
e 1o

(1) an ordinary linear differential equation of order 2.
(2) an ordinary non-linear differential equation of order 2.
(3) an ordinary linear differential equation of order 3.

(4) an ordinary non-linear differential equation of order 3.

4 2 1 3
99. Matrix{A]=16 3 4 7
2 1 0 1
The rank ot; matrix is
(1) 4 (2) 1
(3) 3 4 2

100. Choose the correct set function which are linearly dependent :

2 x and cos? x

(1) sin x, sin
(2) cosx,sinxand tan x

(8) cos 2x, sin® x and cos? x

(4) cos 2x,sin x and cos x
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1. “The partial derivative of the total internal energy in a beam, with respect to the
load applied at any point is equal to the deflection at that point.” This is the
statement of
(1) Moment area theorem : (2) Castigliano’s second theorem
(3) Conjugate beam theorem (4) Miiller - Breslau’s influence theorem
2. For a fixed beam AB, the support B settles by 8 downward, then what is the
direction of rotation of point A and B ?
(1) —ve,—ve (2) +ve, +ve
3) +ve, -ve 4) -ve, +ve
3. The force in member AB of the truss shown in the figure below is
50 kN
A
l-ii m
B
#—— 6panels@1-5meach ———
(1) 25kN (¢) (2) 252 kN (¢)
(3) 25 V2 kN (c) 4 25kN(t)
4. For the given figure, the moment at A, whose far end is fixed, M, is
M, | |
A 0 A B
' —F
3EI 4EI 2EI 6El
B. The distribution factor is
(1) Ratio of stiffness of member and member
(2) Ratio of stiffness of near joint and far joint
(8) Ratio of stiffness of member and joint (sum of member stiffness)
(4) Ratio of stiffness of joint and member
YT BHTEISE SR / SPACE FOR ROUGH WORK - P.T.O.
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6. Force in the member BC of the truss shown in the figure below is

5 kN

60° 60°

Q

A
>

¥

6m

(1) 5 KN (tensile)

(2) Zero

(3) 2-88 KN (compressive)
(4) 5 KN (compressive)

7. A fixed beam AB of span L is subjected to a clockwise moment M at a distance ‘@’
from end A. Fixed end moment at end A will be '

® ¥ @-aa-s3m @ M a@L-30
L L
@) LﬂzacL-a) @) %(L—a)&L—a)

8. A beam of span [ is fixed at one end and simply supported at other end. It carries
uniformly distributed load of w per unit run over the whole span. The reaction (R) at

the simply supported end is

1) R=-g-wz (2) R=ng

@) R=1wl 4 R=21w
2 3

9. Degree of static indeterminacy of a rigid jointed plane frame having 15 members,
3 reaction components and 14 joints is
(1) 2 (2) 3 3) 6 4) 8

FEEGT BRI R / SPACE FOR ROUGH WORK
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10. A rigid cantilever frame ABC is loaded and supported as shown in the figure below.
The horizontal displacement of point C is

(1)

(3)

P [

B C
h
- 77A
A L X
2 Ph3 @ Ph2(2h + L)
3EI 2KI
3 ' 2
Ph @ PhZ(h + L)

3El 3EI

11.  The distribution factor for the members OA, OB and OC ai'e

(1)
(2)
(3

(4)

O E
A B
1 9 ElL, 4m [1-5EL 4 mF

El,6m

AN

C

0-125, 0-375, 0-5
0-375, 0-5, 0-125
0-5, 0-125, 0-375

0-5, 0-375, 0-125
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12.  The stiffness co-ethcients Kij indicate
(1) Force at i due to a unit deformation at j
(2) Deformation at j due to a unit force at i
(3) Deformation at i due to a unit force at j-

(4) Force at j due to a unit deformation at i

13. A beam El-constant of span L is subjected to clockwise moments M at both the ends
A and B. The rotation of end A works out to be

9
ff\&/ T)M
| L
ML ML ML ML
el ol i 4
D om @ 3 @) IEI @ SEI

14.  Carry-over factor Cp, for the beam shown in the figure below is

0e®
ﬂ‘vef“a&
Y M
@; B
Mav] b s
4 L —t
(1) ah (2) 3/4 (3) a/L (4) 1/2

15. For a three-hinged parabolic arch, what will be the ratio L/R to satisfy H = W ?

W
R
H— H
£ L +
(1) 0-50 (2) 150 (3) 200 (4) 400

T BETATS! SR / SPACE FOR ROUGH WORK
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16, Match the foliowing :
a. Three-hinged arch I
b. Two-hinged arch IL
¢. Hingeless arch 11I.
a b c
1 I I II1
(2) III I I
3 I I III
4) II I I

K12

Statically indeterminate to third
degree

Statically indeterminate to first
degree
Statically determinate

17. What is true for flexibility and stiffness matrix ?

a.
b.
c.

d.

They are square matrix

The diagonal elements are non-zero and having positive values

Element ij= Element ji

They are inverse of each other

Answer Options:

(1)
(2)
(3)
(4)

a and ‘b
All of the above
candd

a,c,and d

18.  Muller - Breslau Principle in structural analysis is used for

Q)
@)
3)
(4)

Drawing ILD for any force function
Writing virtl;al work equation
Superposition of load effects

None of the above
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19.  The given figure shows ILD for SF and BM at section 1
AC=3m, BC=9m

@
PR 28
0-75

0:25

ILD for BM

The value of SF and BM at @ due to concentrated load of 20 kN at mid span will be
(1) 075kNand 2:25 kN-m (2) 5kN and 5 kN-m
 (3) 75kN and 10 kN-m (4) 10 kN and 30 kN-m

20.  All members of the frame shown below have the same flexural rigidity EI and length
L. If a moment M is applied at joint B, the rotation of the joints is
M

B
Al
A ELL T EI,L?Q),C
EL L
D ‘

ML ML ML ML

=/ il = 4) =
O T 2) 11EL ¥ 2EI @) 7EI

-

21. A stiffness matrix is to be generated for beam AB as horizontal flexural member. As
per the method adopted for calculation of stiffness matrix, if end A is given
translational displacement in vertically upward direction, the end forces generated
at end ‘B’ are

{1) No forces at end B

(2) - 12 EVL3 vertical force and 6EI/LZ moment
(3) -6 EI/L? vertical force and 2EI/L moment
(4) -6 EU/L? vertical force and 4EI/L. moment

Tl HIHMIIS! ST / SPACE FOR ROUGH WORK
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22, If the stiffness matrix of beam element is given as T , then the
_ -1 2
flexibility matrix is
w L P @ L |
6EI |; - 2Bl | o
@ L|° ] w L | °
o PR 6El | 9 1
23. The inclination of a lacing bar with the axis of the compression member is 6. Then ‘@’
shall not be less than
(1) 30° (2) 40° (3) b0° 4y 70°
24. A column splice is used to increase
(1) the length of the column (2) the strength of the column 7
(3) the rigidity of the column (4) the cross-sectional area of the column
25. In a cantilever plate girder to prevent web buckling, horizontal stiffeners are
provided running along the span, They are provided
(1) below the neutral axis
(2) over the entire cross-section (above as well as below neutral axis)
(3) above the neutral axis
(4) None of the above
26.  Number of bolts requited in a bolted joint is equal to
(1) Fore @) roe____
Bolt value Strength of bolt in shearing
(3) Force ’ (4) Force
Strength of bolt in bearing Strength of bolt in tearing
27.  The deflection of beams may be decreased by

(1) Increasing the depth of beam (2) Increasing the span
(3) Decreasing the depth of beam - (4) Increasing the width of beam

TPEAT SMITS! SIFT / SPACE FOR ROUGH WORK
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28.

10 A

The Indian standard code which deals with steel structures is

(1) IS:456 (2) IS:875 (3) IS:800 (4) IS:1893

29.

Slenderness ratio of lacing bars should not exceed
(1) 100 (2) 120 (3) 145 (4) 180

30.

The effective length of fillet weld is taken as

(1) the actual length plus twice the size of weld.
(2) the actual length minus twice the size of weld.
(3) the actual length plus thrice the size of weld.
(4) the actual length minus thrice the size of weld.

31.

The fusible material used in welding to dissolve and facilitate the removal of oxides
and other undesirable substances is known as '

(1) inert material (2) inert gas

3) flux ' (4) catalytic agent

32.

Which of the following equations is correct for both, subjected to both combined
shear and tension ? . '
Where, V = Applied shear at service load

Vs = Design shear strength

T, = Externally applied tension at service load

Tpar = Design tension strength

2 2 2 2
o || 4[] <1 @) {V]+[Te]z1
) Vsdf Tndf Vaar Tndf-

Vv Te Vv ' Te }
<1 _ 4 _ >1
@ [Vsdf] ' [Tndf] = @ [Vsdf} ' [Tndf

33.

What is the yield strength of bolt of class 46 ?
(1) 400 N/mm? (2) 240 N/mm?
(3) 250 N/mm? (4) 500 N/mm?
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84. What are the different limit states of design as per IS 456 : 2000 ?

a. Limit state of failure '

b. Limit state of damage

¢.  Limit state of collapse

d. Limit state of serviceability

Answer Options : _
(1) aandd (2) bandc (3) candd (4) aandb

35. Maximum shear force for three equal spans of beam/slab occur at
(1) inner side of end support ‘
(2) inner side of support next to end support
(3) outer side of support next to end support
(4) outer side of end support

36.  In the design of slab, the diameter of reinforcing bars shall not exceed
(1) one-eighth of overall thickness of slab |
(2) one-fourth of overall thickness of slab
(3) one-half of overall thickness of slab
(4) one-third of overall thickness of slab

37. Determine the slab area of which load is acting on supporting beams A and B

——55m——&

7‘

Beam/ 4m
A

~
Beam B

(1) 5-5m®and 7-0 m?
(2) 4:0m? and 5-5 m?
(3) 7:0m?and 4-0 m?

" (4 40m?and 70 m?
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A Tee-beam behaves as a rectangular beam of a width equal to its flange if its
neutral axis

(1) remains within the flange

(2) remains below the slab

(3) coincides with the geometrical centre of the beam
{4) None of the above

- 39.

According to IS 456, two-way slabs with corners held down are assumed to be
divided in each direction into middle strips and edge strips such that the width of
middle strip is,

(1) half of the width of the slab

(2) two-thi.rcll of the width of the slab

(3) three-fourth of the width of the slab

{4) four-fifth of the width of the slab

40.

Span effective depth ratio for cantilever for‘span upto 10 m is
{1 7 2) 20 3) 26 4) 35

41.

Effective length of compression member which is effectively held in position and
restrained against rotation at both ends is

(1) 065! - (2) 0751 (3) 080! {4) 085!

42,

If ‘H’ is the total height of the building, under transient wind load the lateral sway
at the top should not exceed
o I o H w B

200 @ 300 @ 00 500

- 43.

An axially loaded column is 300 x 300 mm in size, effective length of column is 3 m.
What is the minimum eccentricity of the axial load for column ?

(1) 20mm {(2) 16 mm {(3) 10 mm 4 0

44,

In reinforced and plain concrete footings on soils, the thickness at the edge shall be

not less than

(1) 200 mm - (2) 150 mm (3) 300 mm (4) 250 mm
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45. The maximum permissible final deflection of a beam should not exceed
(1) span/350 - (2) span/250
(3) span/480 (4) span/500
46. The maximum effective reinforcement ratio of a bonded prestressed concrete beam
at failure according to IS : 1343 is limited to a value of
(1) 015 (2) 0-40
(3) 025 (4) 050
47. The moment of resistance of a rectangular section depends upon
(1) wultimate strain in concrete
(2) area of high tensile tendons
(3) tensile strength in concrete
(4) compressive stress in concrete
- 48,  In case of prestressed concrete element, which statement is not correct ?
(1) Concrete remains uncracked and it protects steel from corrosion.
(2) It can be used more effectivély in liquid retaining structures.
(3) The stiffness of structure is less due to uncracked condition of concrete.
(4) Shear resisting capacity is increased due to pre-compression.
49.  Prestressing force transmitted to concrete as initial internal stress to counteract the

internal stress developed due to external loads is called
(1) Stress concept
(2) Strengfh’ concept

" (3) Force concept

(4) Load balancing concept
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50. A simply supported beam of spaﬁ 9 m is subjected to two point loads, each of 10 kN
acting at % of span as shown in the figure. If self-weight of beam is neglected, then

how much prestressing force is required to counter-balance the external loads if

8=30°7 _
JlOkN llOkN

—f—

6 =230°

L/3 1/3 L/3

(1) 5kN

(2) 10kN
(3) 20kN
(4) 30kN

51. The approximate value of shrinkage strain for design of post-tensioning member is

Where 4’ = age of concrete at transfer in days.

0-0001
1) @ —
W log1o(t +2)
(2) 00003
0-0002
3 -
® Jog1o(t + 2)
0-0003
4 -
@ loglo(t +2)
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52. The partial safety factors for material strength are
(1) 1-15 for concrete and 1'5 for steel
(2) 15 for concrete and 1-15 for steel
(38) 1-5 for both concrete and steel
(4) 1-15 for both concrete and steel
53. A post-tensioned prestressed concrete beam is having a cross-section of 300 x 300.
The area of end block is 100 x 100 mm. Instead of 100 x 100 mm end block,
150 mm x 150 mm end block is provided. What will be the reduction in bursting
forces ? Let the load in tendons be P,.
(1 003 P (2) 004 P, (3) 0045 P, 4) 0:05P,
54.  Prestressing in a concrete beam with sloping or curve profile
(1) increases shear strength
(2) increases flexural strength
{3) decreases shear strength
(4) Both (1) and (2)
55. The bearing stress on concrete after accounting for all losses due to relaxation of

steel, elastic shortening, creep of concrete, slip and seating of anchorage shall not
exceed

(where, f, is the concrete strength at transfer, Ab is bearing area and Ap
punchmg area)

A

(1) 0O16f, A br_ or0-8 f; whichever is smaller
pun
{(2) 0-48 f A or 0-8 f; whichever is smaller
pun -
Ab
3) 025 fc1 y or 08 f whichever is smaller
pun
Ab
4) 034 f'cl 2 or 0-8 f thchever is smaller
pun
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61.

56. - The difference between EST of succeeding activity and EFT of the activity under
consideration is called
(1) Total float
(2) Independent float
(3) Interfering float
(4) Free float
87.  Which of the followmg are the methods of schedulmg ?
(1) Bar charts or Gantt charts
(2) Milestone charts
(3) Network anaysis
(4) All of the above
68.  The excess of minimum available time over activity duration is called
(1) total float (2) free float
(3) independent float (4) None of the above
69.  Which of the following are the significant achievements of Taylor towards scientific
management approach ?
(1) Work study
(2) Incentive scheme
(3) Standardisation of tools and equipment or workman and working conditions
(4) All of the above )
~ 60, Which of the following networks is activity oriented ?
(1) PERT (2) CPM
(3) Both (1) and (2) (4) None of the above
The time required to complete an activity under abnormal or extremely adverse

conditions in which everything goes wrong is called
(1) optimistic time

(2) most likely time

(3) pessimistic time

(4) None of the above
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62. What is the purpose of job layout ?
(1) To provide more economical methods of working
(2) Shorter leads of materials
(3) Reduction in completion time
- (4) All of the above
63.  Which of the following codes is réleva.nt to fire safety ?
(1) IS 456 - 2000
(2) IS 1256 -1967
(3) IS 800 - 1950
(4) None of the above
64. What is dummy activity ?
(1) Activity having zero duration
(2) Activity shown by dotted line
(3) Activity which shows dependency
(4) All of the above
65.  Which of the following sentences is correct ?
(1) Except initial and énd events, all events in the netﬁork are Hual role events.
(2) All events in the network are dual role events.
(3) There is only one dual role event in the network.
(4) None of the above
66. PERT stands for
(1) Perfect Evaluation and Review Technique
(2) Programme Elongation and Review Technique
(3) Programme Evaluation and Review Technique

(4)

None of the above
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67.  Floating point form representation of a real number x is denoted by x = f x 10® in
which f is called
(1) Sign bit (2) Exponent
(3) Partial derivative (4) Mantissa
68. What will be the next approximation for finding a real root of equation
x3-2x-5=0; if it is solved using the Newton-Raphson method and uutla.l
approximation of x = 2 ?
(1) 24 (2) 23
3) 21 (4) 22
69. An iterative formula to find VY (where Y is a positive number) by the
Newton—-Raphson technique is given by expression ‘
4 s
1 Y 1 Y
@ SSPS Tl Rt (2) %4173 xﬁ;]
’ ’ 1 1
1 ¥ 1. ¥
(3) xi+1=§ x1+; (4) xi+1=z xi—x—
1 1
70. The area under straight line is an estimate of the integral of f(x) between the limits
a and b and the result of this integration is called trapezoidal rule. The formula used
in area calculation by this rule is
D I=(@a-b @I @ I=(b-a) (D@
4 2
f f(b
3 I=(b—a) @D 4) I=@p-g @0
2 3
71. The method in which both sides of équations are multiplied by non-zero constant is

classified as

(1) Gaussian elimination method
(2) Gaussian inconsistent procedure
(3) Gaussian consistent procedure

(4) Gaussian substitute procedure
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72. The two segment trapezoidal rule of integration is exact for integrating at most
order polynomials.
(1) first ) (2) second
(3) third {4) fourth
73.  Division by zero during forward elimination steps in Naive Gaussian Elimination of
the set of equation [A][X] = [C] implies the coefficient matrix [A]
(1) is invertible
(2) is non-singular
(3) may be singular or non-singular
(4) is singular
. 74. What will be the value of function fix) = x3 + 2x — 2 = 0 in the next iteration if
fl0)=—2and1)=17
(1) -0625 (2) -0725
(3) -0875 ‘ . (4) -0975
75. For the equation fix) = x2 — x — 1 = 0, a root lies between 1 and 2. The root of
' equation at second interval by bisection method is
1 15 (2 2
(3) 166 4 175
76.  The root of equation x3 — 4x — 9 = 0 using the bisection method is
(1) 16875 (2) 26875
(3) 3-6875 : ~ (4) 46875
77. In the solution of simultaneous equations by the Gauss elimination method for

solving equations, triangularization leads to
(1) singular matrix

(2) upper triangular matrix

(8) diagonal matrix |

(4) lower triangular matrix
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78.  Hardness of the stones can be tested by in the laboratory.
(1) Impact strength (2)  Abrasion strength
(3) Mohr’s scale (4) Crushing strength
79.  Which of the following tests is used for measuring the workability of the concrete ?
(1) Chloride penetration test '
(2) Slump test
(3) Initial setting time test
(4) Standard consistency test
80. For aggregate ratio of order of , the workability is independent of the
Aggregate Cement Ratio. '
1 10 2 15 ‘ (3) 20 4) 30
81. Rankine’s formula for finding the minimum depth of foundation for loose soil is
. . 2
) d=ﬂ[ﬁ—s’.ﬂ—¢] (2 d=3[lzsmo
yl1l—siné ¥l 1+sin ¢
. . 2
@ d=3 (ﬂ] 4 d= E[Ls%n_d)]
¥yl 1+sin¢ yL1—sin ¢
82. White lead, red lead, oxides of zinc, oxides of iron are the substances used in the
formation of paints of '
(1) Vehicle (2) Drier (3) Carrier (4) Base
83. What is the name of the wooden plank or slab of concrete or stone usually provided
at the bottom of an entrance door'? _
(1) Jamb (2) Reveal (3) Cornice (4) Threshold
84. In testing final setting time of cement a needle of

(1) 1 mm square section is used
(2) 1 mm diameter is used
(3) 2 mm square section is used

(4) 5 mm square section is used
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85. Whichof the following is 7ot a non-destructive method of testing concrete ?
(1) Rebound test
(2) Radioactive penetration method
(3) Soundness test
(4) ‘Dynamic or vibration test
86. In public halls and auditoriums, the sound persists even after the source of sound
has ceased. This persistence of sound is called
(1) Absorption (2) Echoes
(3) Reverberation (4) Reflection of sound
87. The lime which has high calcium oxide content and is dependent for setting and
hardening solely on the absorption of carbon dioxide from the atmosphere is known
as
(1) Quick lime (2) Fat lime
(3) Hydraulic lime (4) Hydrated lime
88. What should be the aspect for a bedroom ?
(1) West ‘ (2) North-West
(3) South-West (4) All of the above
89. For roominess, length to width ratio should be _
' (1) 1:1tol:5 (2) ‘1.2:1t015:1
(3) 15:1t02:1 (4) 15:1to 1.75:1
90. At a point in the web of a girder the bending stress (o,) is 3 MPa (tensile) and the
shearing stress (1) at the same point is 2 MPa, then the maximum shear stress is
(1) 1-56MPa (2) 4MPa (3) 2-56MPa (4) 1MPa
91. A beam of length 10 m carries a uniformly distributed load of 20 KN/m over its

entire length and rests on twe simple supports. In order that the maximum BM
produced in the beam is the least possible, the supports must be placed from the
ends at a distance of

(1) 586m (2) 414m (3) 293m (4) 2:07m
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92, Choose the correct relation between modulus of elasticity (E), modulu's of rigidity (G)
and bulk modulus (K) from the following options :
2 9 3 9 3 1
1) —=—+ — 2) —==+ =
W 5-6*x @ E°G*x
3 9 1 1 9 3
3) — ==+ = 4) — =4+ =
® §¢*x @ §°¢*x
93. In a simple bending theory, one of the assumptions is that the material of the beam
is isotropic. This assumption means that the
(1) normal stress remains constant in all directions
(2) normal stress varies linearly in the material
(3) elastic constants are same in all the directions
(4) elastic constants vary linearly in the material
94. A simply supported beam of length 7’ carries a point load ‘W’ at point ‘C’ as shown in
the figure. The maximum deflection lies at
W
A lc B
TL a . b 7.:
x l &
(1) Point A
(2) PointB
(3) Point C
(4) Between points B and C
95. In the torsion equation

T =+« _C.0

J R =1

the term % is called

(1) Shear modulus (2) Section modulus
(3) Polar modulus (4) None of the above
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96. Two solid shafts ‘A’ and ‘B’ are made of the same material. The shaft ‘A’ is of 50 mm
diameter and shaft ‘B’ is of 100 mm diameter. The strength of shaft ‘B’ is
‘ of that of shaft ‘A’.

(1) one-half : (2) double
(3) four times '(4) eight times

97. The shear force on a simply supported beam is proportional to
(1) displacement of the neutral axis '
(2) sum of the forces
(3) sum of the transverse forces

(4) algebraic sum of the transverse forces

98,  Deflection of the free end of cantilever having point load at the mid span is

3 ' 3

a W 2 W

3EI 24F1

s5Wid wi3

3 4) =
@) ZgE @ 8EI | 1

99. An element in a strained body is subjected to only shear stress of intensity 50 MPa
tending to rotate the body in clockwise direction. What is the magnitude of principal

stresses ?
(1) +50MPa (2) + 50 MPa, — 25 MPa
(3) + 25 MPa, - 50 MPa (4) t 25 MPa

100. Strain energy stored in a solid shaft due to application of Torque ‘I at free end while
other end is fixed, if G is shear modulus, J is polar moment of inertia, and L is the

_ length of shaft is/will be
TL? . T21.2
[ ) J—— 2
GJ . @ 2GJ
2T1.2 T2L-
(3) 4) —
GJ @ 2GJ
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1. For finding out time ‘t,” required to achieve 50% consolidation of 1 m thick clayey
strata resting on impermeable rock at bottom and sandy soil at top, a laboratory
consolidation test was carried out, using 1 e¢m thick sample obtained from the same
strata. Time “t;” was taken by it to achieve 25% consolidation, under double
drainage condition, in the laboratory.

Choose the correct value of ratio of [{l} from the following :
‘ 1

(1) 4,00,000 (2) 16,000 (3) 1,60,000 (4) None of the above

2. The distance ‘D’ between centers of piles with top diameter ‘d’ should not be less
than {(from practical consideration)

(1) 2d (2 3ad (3) 4d (4) 5d
3. Match List I and List IT and select the correct answer using the codes given below :

List I . List II
(Construction Type) (Suitable Cofferdam Type)

(a) Cut-off trench of a dam to be (i) Cellular sheetpile cofferdam
constructed across flowing river

(b) Shallow foundation of a bridge pier (i) Embankment type cofferdam

{c) Sequential repetition of underwater (iii) Single wall sheetpile cofferdam

foundation work

(d) Control of groundwater to prevent (iv) Floating steel cylinder cofferdam
entry into deep excavation

(a) (b) () (@
(1) Gv) (iii) (i) @)
(2) G (i) (iv) (1D
(3) (i) (iii) i (iv)
4) (ii) (iv) i W

4. The void ratio and porosity of a soil sample having equal volume of solids and
volume of voids are
Void ratio Porosity
(1) 10 100%
(2) 05 50%
3). 10 50%
4 05 100%
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Let E, and E; represent compaction energy deployed for compacting soil as per
modified compaction test and standard compaction test, as per IS.

Choose from the following correct ratio of [—%"—J :
1

(' About 4 times (2) About 3 times
(3) About 2 times (4) None of the above

On the same soil sample, both Standard and Modified Proctor compaction tests are
conducted in the laboratory. The values of Optimum Moisture Content (OMC) and
Maximum Dry Density (MDD) for modified test compared to those for standard
compaction test will respectively

(1) Increase, Increase (2) Decrease, Increase

(3) Increase, Decrease (4) No change, Increase

7.

If the permeability, shrinkage and swelling of a compacted soil having same density

. on dry side of optimum meisture content is compared with compaction on wet side of

optimum, the variation in these properties will be
(1) more, less, higher (2) more, more, higher

(3) more, more, less (4) less, less, higher

An embankment has a slope of 30° which was constructed with soil having
C = 30 kN/m?, ¢ = 20° and y = 15 kN/m3. The height of embankment is 20 m. Using

Taylor’s stability no. :1% , the factor of safety with respect to cohesion is

(1) 025 2 2
3 4 4 15

The degree of consolidation depends upon
(1) thickness of clay layer

(2) coefficient of pei-meability

(8) co-efficient of consolidation

(4) All the above
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10. The loss of head due to sudden expansion of a pipe is given by
V2 - V7 05 V2
(D hy=-1__"2 (2 hy =
(1) L 2 L 2g
V, -V,)? |
(3) hy = 5—1—-2—3)~ (4) None of the above
g

11.  Bernoulli’s equation is derived making assumption that

(1) the flow is uniform and incompressible

(2) theflowis non-viscous, uniform and steady

(3) the flow is steady, non-viscous, incompressible and irrotational

(4) None of the above
12. For the laminar flow through a circular pipe

(1) the maximum velocity = 1-5 times the average velocity

(2) the maximum velocity = 2-0 times the average velocity

(3) the maximum velocity = 25 times the average velocity

(4) None of the above
13.  Depth at which specific energy is minimum is known as

(1) Critical depth (2) Conjugate depth

(3) Alternate depth (4) Normal depth
14.  In a rectangular channel section, if the channel depth is 2:0 m, the specific energy at

critical depth is ' '

(1) 30m (2) 133m 3 256m 4) 15m
15.  Which of the following statements is correct ?

(1) Centrifugal pumps convert mechanical energy into hydraulic energy by thrust
of piston

(2) Reciprocating pumps convert mechanical energy into hydraulic energy by
means of centrifugal forces

(3) Centrifugal pumps convert mechanical energy into hydraulic energy by means
of centrifugal force

(4) Reciprocating pumps convert hydraulic energy into mechanical energy

FOT BEIE! ST / SPACE FOR ROUGH WORK P.T.O.



L12 6

16. Dynamic viscosity (u) has the dimensions as
(1) MLT? (20 ML1T (3) ML1T2 (4) M1p1rl

17.  The submerged body will be in stable equilibrium if
(1) The centre of buoyancy B is below the centre of gravity G
(2) The centre of buoyancy B coincides with G
(3) The centre of buoyancy B is above the metacentre M
(4) The centre of buoyancy B is above G

18.  Continuity equation deals with the law of conservation of
(1) mass ‘ (2) momentum
(3) energy (4) None of the above

19.  The discharge through a single-acting reciprocating pump is
@ Q=N g @-2N (3 Q-AN @ Q=2aLN
. 60 60
where A = cross-sectional area of cylinder or piston
L = length of stroke

N =r.p.m. of the crank

20. A turbine is called impulse if at the inlet of the turbine
(1) total energy is only kinetic energy
(2) total energy is only pressure energy
(3) total energy is the sum of kinetic energy and pressure energy
(4> None of the above ‘

21.  During suction stroke of a reciprocating pump, the separation may take place
(1) at the end of suction stroke
(2) in the middle of suction stroke
(3) at the beginning of suction stroke
(4) - None of the above

22.  The specific speed (N) of a pump is given by the expression

NJQ _ NJP

(1) Ns = ﬁ?n/—&‘ (2) NS - H‘:’f"‘

N NP

(3) N, = Hﬁ 4 Ng= =
m m
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23. Kaplan turbine is a/an
(1) impulse turbine (2) radial flow impulse turbine

(8) axial flow reaction turbine - (4) radial flow reaction turbine

24. A turbine is a device which converts
(1) Hydraulic energy into mechanical energy
(2) Mechanical energy into hydraulic energy
(3) Kinetic energy into mechanical energy

(4) Electrical energy into mechanical energy

25. In the inlet part of the jet impinging on a Pelton bucket, the velocity of whirl V_, is
equal to ‘
(1) absolute velocity of jet atinlet V;  (2) relative velocity of jet at inlet V

(3) zero (4) None of the above

26. If the turbine has kinetic energy and pressure energy of water at its inlet, then such
turbine is known as’

(1) impulse turbine (2) reaction turbine
(3) Pelton wheel turbine (4) low head turbine

27.  Which component is not provided to Pelton wheel turbine ?
(1) Penstock (2) Jet (3) Casing (4) Draft tube

28.  The artesian aquifer is one where
(1) water surface under the ground is at atmospheric pressure
(2) water table serves as upper surface of zone of saturation
(3) water is under pressure between two impervious strata
(4) None of the above

29.  Lysimeter is used to measure
(1) Infiltration (2) Evaporation
(3) Evapotranspiration (4) Vapour pressure

30.  Horton’s infiltration capacity is given as
D f=f +[f,—f] et @) f=f ~[f +f] et
@) f=f -ff,-f]ekt ) f=f +[f -f]e™¥t
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31. Weibull formula is
(1 P = m 2 P = __m__ N
) [N + 1] @) [N -1
(3) P=[N+1] @) P=(E:_1]
m m
(where m is order number and N is number of years of record)
32. The term base flow denotes
(1) delayed groundwater flow reaching a stream
(2) delayed groundwater and snowmelt reaching a stream
(3) delayed groundwater and interflow
(4) the annual minimum flow in a stream
33. Following is not the method of apportionment of total cost of multipurpose
reservoir :
(1) Remaining benefit method (2) Use of facilities method
(3) Equal apportionment (4) Direct method
34. Owing to the storage effect, the peak of the outflow hydrograph will be smaller than
that of the inflow hydrograph. This reduction in peak value is known as
(1) Lag (2) Attenuation
(3) Routing (4) Prism storage
356. An IUH is a direct runoff hydrograph
(1) of one cm magnitude due to rainfall excess of 1-h duration
(2) that occurs instantaneously due to a rainfall excess of 1-h duration
(3) of unit rainfall excess precipitating instantaneously over the catchment
(4) occurring at any instant in long duration
36. The example of aquifuge is

(1) Clay layer (2) Sandy layer

(3) Solid granite rocks (4) Silty clay layer

HTAT PG 9IRT / SPACE FOR ROUGH WORK




37.

9 L12

The ratio of the quantity of water stored in the root zone of the crops to the quantity
of water actually delivered in the field is

(1) Water conveyance efficiency (2) Water application efficiency
(3) Water use efficiency’ (4) None of the above

38.

In border strip method of irrigation, the width of strip is
(1) 5§-10m 2) 10-20m (3) 20-30m  (4) 25-30m

39.

The duty of irrigation water for a given crop is maximum
(1) on the field (2) at the head of main canal
(3) at the head of water course (4) near the distributary

40.

A channel designed by Lacey’s theory has a mean velocity of one m/s. The silt factor
is unity. The hydraulic mean radius will be
(1) 25m (2) 20m (3) 10m ‘ (4) 05m

41.

In design of spillway when H, = Hy, the value of ‘C’ is -
(1) 1-00 (2) 1-33 ‘ (3) 200 4 220

42,

‘Hygroscopic water is defined as the

(1) readily available water for the use of plants.

(2) water which is adsorbed by the particles of the dry soil from the atmosphere.
(3) total water content of the soil when all pores are filled with water.

(4) water held by the soil under capillary action.

In case of non-availability of space due to topography, the most suitable spillway is
(1) Straight drop spillway (2) Shaft spillway
(3) Chute spillway (4) Ogee spillway

The channel after obtaining its section and longitudinal slope will be said to be in
(1) Initial regime | (2) Permanent regime
(3) Final regime (4) Absolute regime

45.

The silt load in the stream does not depend upon
(1) nature of the soil in the catchment area

(2) topography of the catchment area

(3) intensity of rainfall

(4) alignment of dam
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46.  Match the design speed recommended for various roads by IRC 86 : 1983

List I List IT
(a) Collector roads (i) 30kmph
(b) Local roads (ii) 80 kmph
(c) Arterial roads (iii) 60 kmph
(d) Sub-arterial roads (iv)‘ 50 kmph

(a) (b) ) (@
(1) G (i) (v)  (ii)
(2) (i) @) i) ()
@ (iv) (i) (i) (i)
(4) (i) (iv) i) @

47. IRC recommended % values of camber for different types of road surface can be
arranged in descending order of following roads :

a. Water bound macadam road
Thin bituminous surface road

b
c. Cement-conerete road
d

- Earth road
Answer Options:
(1) d,b,ca (2) ¢, a,b,d
(3) d,a,b,c (4) c,b,ad

48. The expression for the length of a transition curve (L,) in meters is

V3 V3

= —_— L. =

W Le=Gg @ L= 16cr
V3 V3

= ' 4 L =
@) LS 24 CR @) 5 465CR
where

3

C = Rate of change of radial acceleration in m/s
R = Radius. of the circular curve in metres, and
V = Speed of vehicle in kmph
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49. The design speed adopted for design of rotaries in urban areas of India is
(1) 30 kmph (2) 40 kmph (3) 50 kmph (4) 60 kmph

50. Match the followiﬁg :

List1 List II
(a) Stop signs (i) Circular in shape
(b) Give way signs (ii) Equilateral triangle with its apex pointing upwards

(c) Speed limit signs (iii) Octagonal shape
(d) Warning signs (iv) Inverted triangle with its apex pointing downwards

(a) (b) e @
(1) @) (ii) (i)  Gv)
(2) (i) (i) (i) @)
(3) (@id) (iv) () (ii)
(4) (iv) (iii) () @

51. The dowel bars are used in rigid pavements for
(1) resisting tensile stresses
(2) resisting bending stresses
(3) resisting shear stresses

(4) transferring load from one portion to another

52.  Group index method of designing flexible pavement is based on
a. Plasticity index
b Shear strength
c¢. CBR value
d. Percent fines
Answer Options :

(1) a,bandc (2) bande (3) aandd (4) a,candd

683. Grade separation
a. 1is for crossing traffic
b.  is to minimize delay and hazard
¢.  a cheaper option
d. increases discomfort and inconvenience
(1) aandec (2) bandec (3) aandb 4) candd
FoT4T HIIWIS! ST / SPACE FOR ROUGH WORK P.T.O.
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54, © Consider the following statements :
Collision diagram is used to
a. study accident patterns b. eliminate accidents
¢. determine remedial measures d. make statistical analysis of accidents
Answer Options : -
(1) aand b are correct (2) aandc are correct
{3) candd are correct (4) bandd are correct
56. A bridge has a linear waterway of 150 metres constructed across a stream whose
natural linear waterway is 200 metres. If the average flood depth is 3 metres and -
average flood discharge is 1200 m3/sec, the velocity of approach is
(1) 20 m/sec (2) 266 m/sec (3) 60 m/sec (4) 8-0m/sec
568. The width of carriageway required will depend on the intensity and volume of traffic
anticipated to use the bridge. '
a. Except on minor village roads all bridges must provide for at least two lane
width :
b. The minimum width of carriageway is 4:25 m for one lane bridge
¢.  The minimum width of carriageway is 3-75 m for one lane bridge
d. The minimum width of carriageway is 7-5 m for two lane bridge
Which of the statements given above is/are incorrect ?
(1) Onlya (2) Onlyaandc (3) Onlya,candd (4) Onlyec
57. Which of the following shall be considered while designing high level bﬁdges for
buoyancy effect ?
(1) Full buoyancy for the superstructure
(2) Full buoyancy for the abutments
(3) Buoyancy forces due to submerged part of the substructure and foundation
(4) Partial buoyancy for superstructure
58. The normal depth of scour for alluvial rivers is determined by Lacey’s formula

£ QY
1 Jo475 a @ 04753

4753 1f . 3\/§
(3) 0475 3 @ 0475° |
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59. Roller bearings are used in bridges for the span of
(1) 18toc24m (2) 12to18m (3) 6tol2m (4) Upto6m
60. The maximum scour depth dm for condition of flow at noses of piers is
(1) 1-50d (2) 175d (3) 2-00d (4) 2-75d
61.  For high level bridges, the freeboard should not be less than
(1) 200 mm (2) 400 mm (3) 600 mm (4) 800 mm
62. As per IRC specifications, the minimum cement content in concreteis____ for
major bridges. . ‘
(1) 340 kg/m?® (2) 350 kg/m®
(3) 360 kg/m? (4) 370 kg/m3
63. For IRC class A and B loading, the impact factor, for R.C.C. bridges having spans
more than 45 metres, is taken as .
(1) 0078 (2) 0-088 (3) 0-098 4) 0154
64.  Which pattern of the drilling is no# used for shafts ?
(1) Central wedge cut (2) End wedge cut
(3) Vertical wedge cut . (4) Alternate wedge cut
65. From the economy point of view, tunnelling is advisable when the depth of open cut
is more than ’
(1) 6m (2) 12m (3) 18m (4) 24m
66. Match the following:
List I List IT
(a} Firmground (i) Needing instant support all round
(b) Running ground (ii) Needing instant support for roof
(c) Self-supporting ground (iii) No need of instant support for roof
(d) Soft ground (iv) Soil stands supported for short period and
short length

(a) (b) () (@
(1 @ (ii) (i)  (Gv)
(2) (v (ii) (i) (iii)
(3) (i) (i) (v} (i)

(4} (v (iii) i) @)
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67.  Which of the following methods is suitable for the construction of large-sized railway
or highway tunnels ? '

(1) Forepoling method (2) American method
(3) Case method (4) Full face method

68.  Match the List I (Shape of Tunnel) with List II (Characteristics) :

List I List IT
(a) Circular section . (1)  Provides more working space
(b) Horseshoe section ' (ii) Provides greatest cross-sectional area

for least perimeter

(¢) Egg shape (iii) Vertical sides with flat floor

(d) Segmental cross-section (iv) Provides least cross-section area at
the bottom

(a) (b) ) (@
() (D) (1) (iv) (i)
@ o G Gi)  (Gv)
@ i) Gv @ dD)
4) (iv) (iii) (i) @

69. In order to maintain the desired shape of the tunnel, the cross section of the tunnel
must be checked at a regular interval of

(1) 2mto3dm (2) 4mto6m  (3) 5mto7m (40 8mtol5m

70. Assertion (A): Faces for attacking the excavation and construction of tunnels are
opened by constructing pilot tunnels.

Reasoning (R): Pilot tunnels are suitable at locations when horizontal approach to
the centre line of tunnel is shorter than deep vertical shafts.

(1) Both (A) and (R) are true and (R) is the correct explanation of A
(2) (A)istrue and (R) is false
(8) (A)is false and (R) is true

(4) Both (A) and (R) are false
Foe] HTHTETS! ST / SPACE FOR ROUGH WORK




A 15 L12
71.  Which of the following methods is generally considered the most efficient system for
ventilation of tunnels ?
(1) Driving a shaft through the tunnel
(2) Driving a drift through the top portion
(3) Blow in method
(4} Combination of blowing and exhaustiﬁg
72. Incase of long tunnels, the drainage system consists of sump wells which are located
at regular intervals of about ‘
(1) 50m td 100 m (2) 100 m to 200 m
(3) 200 m to 300 m (4) 300mto500m
"~ 73.  Air valves or Air-reh'ef valves are provided at
(1) Summits (2) Valleys
(3) All joints (4) None of the above
74. Which of th(;: following treatments reduces salinity of water ?
a.  Alum coagulation, flocculation and settling
b.  Carbon filtration
c Reverse osmosis
d. Electro dialysis
Answer Options:
(1) Onlyaandb
(2) Onlybandc
(3) Onlycandd
(4) Onlyb,candd
75.  The minimum velocity of flow in a sewer should be ideally

(1) equal to self-cleansing velocity
(2) equal to non-scouring velocity
(3) less than self-cleansing velocity

(4) more than non-scouring velocity
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76. Sewer lines having difference of more than 600 mm in the water lines and invert
level of two sewers are connected with a
(1) Siphon ' (2) Manhole
(3) Inspection chamber (4) Drop manhole
77.  Generally the period chosen for a standard B.O.D. test is
(1) 1day (2) 5days
(3) 8days {4) 20days
78.  For rapid sand filter, sand should have the following specifications :
(1) Effective size 0-1 — 0-5 mm '
Uniformity co-efficient = 2 to 4
(2) Effective size 0-2 — 0-5 mm
Uniformity co-efficient = 2 to 3
(3) Effective size 045 - 0-7 mm
Uniformity co-efficient = 1-3 to 1-7
(4) Effective size 0-7 — 09 mm
Uniformity co-efficient = 1to 5
79. If waste water is disposed off into a natural stream, the maximum dissolved oxygen
depletion occurs in the zone of
(1) degradation : (2) active decomposition
(3) clearer water (4) recovery
80. In a sedimentation tank design, surface overflow rate (S.0.R.) is calculated as
(1) Surface area/velocity of water Q/V/V
(2) Discharge/plan area Q/BxL
(3) Volume of tank/discharge V/Q
(4) Surface area/settling velocity of the particle A/V
81. The waste water treatment unit which is installed to remove floating substances like

grease, oil, fats, waxes, etc. is
(1) skimming tank (2) detritus tank
(3) sedimentation tank (4) None of the above
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82. An alidade in which one edge is bevelled is called as
(1) Soft edge (2) Fiducial edge
(3) Telescopic edge (4) Swivel edge -

83. Contour interval is the ,
(1) vertical distance between two consecutive contours
(2) horizontal distance between two consecutive contours
(3) vertical distance between two points on the same contour -
(4) horizontal distance between two points on the same contour

84. The length of a simple circular curve of radices R metres and intersection angle D

degrees will be
D T D
1) R.—= 2) —.R.=>
@ 2 @ 180 2
n D T
3 —.R.-— —_.R.
3) 180 1 (4) 180 R.D

85. The height of an instrument is the
(1) Height of the instrument above the ground
(2) Height between ground and telescope
(3) Elevation of the plane of sight
(4) Reduced level of station

86. If a tachometer is fitted with an anallactic lens, then,
(1) Additive constant is 100 and multiplyihg constant is zero
(2) Multiplying constant is 100 and additive constant is zero
(3) Both additive and multiplying constants are 100
(4) Both multiplying and additive constants are 50

87.  Following is constant for a contour map :
(1) Horizontal equivalent
(2) Benchmark
(3) Contour interval
(4) Topography
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88.  The combined correction due to curvature and refraction is given by
(1) 0095 g2 ) (2) 001122 42
(3) 006735 d2 4) 0572 d2
(where d is in km)

89. Reiteration method is also called as
(1) Method of series (2) Repetition method
(3) Direction method (4) Both (1) and (3)

90.  The expression for sensitivity of the bubble tube (a) can be taken as,
where n = No. of divisions
s = Net staff reading
d= Distﬁnce
R = Radius of curvature

{ = Length of one division

1) a= L 206265 seconds (2) a= i x 206265 seconds
nd ns
3 a= % radians 4) a= % _é_

91. Closing error in theodolite traverse survey is given as

1) e= (XL + D)2 @ e=J(EL)? +(ID)?

@) e= SL+5D @) e=+(EL? - (ED)?
92. If the length of 16 mm diameter bar is 10 m, then its Weight is

(1) 16-5kg (2) 169kg

(3) 158kg ' 4) 162kg-

93.  Security deposit is
(1) deposited at the time of filling tender
(2) deposited by the contractor whose tender is accepted
(3) deposited at the time of opening tenders
(4) deposited for fair competition
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94, In order to compute the quantities of R.C.C. beams, lengths of beams are measured
to the '
(1} nearest millimetre (2) nearest half centimetre
(3} nearest centimetre (4) nearest inch
95. In case of which type of contract, unbalanced tender is not possible ?
{1} Open tender (2) Item rate contract
(3) Percentage rate contract (4) Unit price contract
96. Which of the following types of contract is used for execution of large works financed
by public bodies or the government ?
(1) Item rate contract (2) Percentage rate contract
(3) Cost plus type contract (4) Target contract
97.  Assertion (A): Earnest money depbsit is usually 1% to 2% of the total estimated
cost of the work.
Reasoning (R} : Earnest money deposit prevents unnecessary and unhealthy
competition.
(1) Both (A) and (R) are true {2) Both (A) and (R) are false
(3} (A}is true and (R) is false {4) (A)is false and (R) is true -
98. Equation for cement requirement in tonnes for four-storey R.C.C. framed building
(super structure) recommended by C.B.R.L is
(1) 0-153 A + 0-57 (2) 0145 A +0-54
(3) 0182A-035 (4) 226 A+ 668
(where A is plinth area in sq. mt)
99. While submitting tender by three envelope method, which envelope contains
rates/amount offered by the tenderer ? |
(1) Envelop:3 (2) Envelopenos:1and 2
(3) Envelope:1 {4) None of the above
100.

The length of L-bend for Tor steel to be provided at each end of the reinforcing bars
is

(1) 12 times diameter {2} 6 times diameter
(3) 3 #imes diameter (4) 150 mm
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11 3 1 3 3 36 3 4 4 1
12 2 3 4 3 37 2 3 1 2
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15 3 1 4 3 40 1 1 4 3
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64 3 1 2 4 89 4 3 1 2
65 3 3 3 3 920 1 1 2 3
66 3 1 2 3 91 2 2 4 3
67 2 4 2 2 92 3 3 3 2
68 1 2 3 1 93 2 2 3 2
69 4 3 1 # 94 3 2 4 1
70 1 2 2 3 95 3 3 1 1
71 4 2 1 2 96 1 1 # 4
72 4 1 3 4 97 1 2 4 2
73 1 2 4 1 98 3 1 2 2
74 3 1 3 1 99 1 3 3 3
75 1 # 3 1 100 2 4 3 4
2 Date:- 28" February, 2019
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